ECE-2025 Spring —2004

Preb 100
(a) { e’ cos('BTT't %\uu.,oﬂ

- P, § ot
= uu--*);; g € co.s(arrtwff:)i + e 2 s (3rre- —’1) .!Luu:«.‘)

= —ultd)e” fzca.;(:mt~~)+ 31rsm(3-rr¢~¢)z.. ~e “4(¢- -1)

8> f%’ le42d- T (¢-2)] * ﬁ. (-—x )’“; (t-29)
N,te s
S [t +~2;t+z> (A" F(-202)] -tk r (-4

pw =§(E-te-t )

= TE4D T -F(t-bd>+ 5 (-8

(¢ Sim (L;;*f) % A8 (#-20)3 0 S (B~ 132D +0- S ~(-1)3Te—6)
Az=o =~ (E-2)4F(E-6)

4 +
e Sf: g‘(ﬁc-z)ﬁ,‘r:g w:(‘r‘vi)dﬂt‘: Uuit-1
Preb 0.2
ay Wit-wYXK €@ utkv-zh
C e% -2e 8’32 P €~6- e~3t‘."?’
Sz 2T =~ 5 \ n = - 3 br t20
. b _“. ~3t4t2.
S UHIE-B X o 3 ult-) = /e ; ) utb)
: ¢
. g
Lot fL¥)= [mu)-k&—#)]*é uLt-2) y £ -
Ktk e ey = Heb e P uce
y - -6 - - -3t
- J‘Lf)-*g [(e ".e“*’)u6i~~3)-(e . e )ua-—é)]

o 3 3 i
) | -1

e uctr¥ e Fuer) /'e\
- (t -t -t
= (P eFar=te for t30 :

A o= -6 .
/k A=gle-e™)
: £




Pob 10.3

-3t ~3(t-7)

@) FR-Dreult-2)=e w(t-9)
(b)) 7 cos ('n't—g) ¥ e-&*uci—) = fed>

~3

|
U € .
31-3&.:

e

_ - J &8¢
3+jv°- 0,232 &

FUO= 7+ 02302 Cos(Tt-F -0 B08¥) = /. 6114 Cos (74 -/, £558)

= ¢ t-§, Het<9

i s, g <t<ll

w1

]

s - — -
[6-t, 11t <1b /—\
0 elsecthere + " a i1 T
W) Y[tk ULE-EY = (¢ 3)Du(t-3) /
5% "t

Pob te.

@) #1 amd #3 ae causal becaumse thety ‘mpnlse refponses

have zero values fr al +<o ;5 AL s nof cawsel
be cause ho(E) %o for Some t<oO,

(6> Ouly hz(£) s s{mble > hit€) and hilk) grow +o
f‘"&‘l;\"""’ 4o t ~—> oo .

(¢ ) halt)-h, (&)= e'&[u (t+1) —M{_'(:-I)I

Overall Cystean & stadle : haferhice) e!

_r j >
— e*[ut-fn —uE)[(*e ue

- /
= ¢ t_r-f Crru('{‘-t) AT

s egsentally an exponeatiall, e cayly cesponce.



FmL . !#_51

-3¢t
(o>  ht)= Slt)+r e " ult)
HiGod= | + - :;,-w HOLY= Hi(jw) Ha (o)
’ / —J--‘f.“_
- (155 eI
6) ey = T cos (3E+1)
w=3
H(J' D=7 P lahasa
et = /7,85 oS (3t + /- 0. 442)
= /(7.85T cos (2¢+ 0.558)
Lﬂ) -~ — ‘Uﬁw/fa
HZ()V)“ /c:aé' Aa—"é’):/ﬂﬂf(f—?é)
httY=hilt) ¥ hy(F) ,
= /ﬁa[}(ﬂ--m)* € “lt-—75)
Prob 10.6 s (€)Y
. [ —‘ > +
°T, T Ty Ta.
t=o XL=) m
" —> &
"T3 T, T ’
t=Ti*Ts : r“—"—\
S Ts 1\\-_-—21—' — -
Ti+Ts -
= Ti+T3th-n ' ) Theefee
= TetT3 T oy — € :rg =T, +T3
Te~T: | Tb-‘-Tz 'f'T'y.

+t=Ta+Tat Tyu-Ts

= =T, | f
TotTe = Te N e

Ty~ T3






